
E36GC65ESS.eps ME36GC65ESS.eps BE36GC65ESS.eps         WE36GC65ESS.tif    
 

 

 

Product No. E36GC65ESS 
Series 36" gas 
Color stainless 
Market North America 
Wiring Diagram WE36GC65ESS 
Owner's Guide 5995426235 
Installation Instructions 5995426250  

 

 

 
ELECTROLUX HOME PRODUCTS, INC. 
P.O. Box 212378 
Augusta, GA 30917 

Publication No. 
5995431284 

05/03/11 
(EN/SERVICE/ECL) 

377 

36” GAS COOK-TOP 
RANGE 

Model No. 
E36GC65E 

 

Copyright © 2005 Electrolux Home Products, Inc.
All rights reserved. 

 

 



Publication No: 5995431284  E36GC65ESS 

03/05 2 

COOK TOP 
 

ME36GC65ESS

12

5

11

11

11

11

11

1

1

1A

10

9

8

7B

10

9

8

7C

7

8

9

10

10

9

8

7

7A

8

9

10

3

3
3

4

4

4

5 5

6

6

6

2

 
 



 E36GC65ESS Publication No:  5995431284 

# Functional Parts 3 03/05 
* Non-Illustrated Parts 

COOK TOP 
 

POS. NO PART NO. DESCRIPTION 
1     5304446037 Grate, burner, (2) 
1A    5304446099 Grate, burner, center 
2     5304446100 Maintop, stainless 
3     5304446029 Knob, burner, (5) 
4     5304446031 Bezel, burner knob, (5) 
5     5304446019 Screw, phil TRS, #8-3/8, (10) 
6     5304446000 Plate, backing, (5) 
7     5304446011 Burner Head Assy, "C", 12500 BTU, (2), w/ignitor 
7A    5304446010 Burner Head Assy, "B", 8500 BTU, w/ignitor 
7B    5304446012 Burner Head Assy, "D", 14000 BTU, w/ignitor 
7C    5304446034 Burner Head Assy, "B", 8500 BTU, 90 deg rear, w/ignitor 
8     5304446028 Nut, burner head, brass, (4) 
9     5304446101 Rings, burner, set of 5 
10    5304446098 Caps, burner, set of 5 
11    5304446026 Ignitor Assembly, burner, (4) 
11*   5304446002 Jacket, ignitor wire, (4) 
12    5304445998 Bracket, assembly, hold down 
 
*     5304446032 Cleaner, stainless steel 

 



Publication No: 5995431284  E36GC65ESS 

03/05 4 

BURNER 
 

10 11

12

BE36GC65ESS

Burner Box
(Not Replaceable)

1

2

3

4

23

23

23
23

24

24

24

15
15

15
15

6

7

8
9

27

14

14

20

21

19

25
26

5

13

5

5

5

5

13A

5

13

13

5

16

24

17

17

17

182222

22

23 23
22

23

 
 



 E36GC65ESS Publication No:  5995431284 

# Functional Parts 5 03/05 
* Non-Illustrated Parts 

BURNER 
 

POS. NO PART NO. DESCRIPTION 
1     5304446084 Tubing Assembly, burner, left front 
2     5304446088 Tubing Assembly, burner, left rear 
3     5304446092 Tubing Assembly, burner, right front 
4     5304446093 Tubing Assembly, burner, right rear 
5     5304446019 Screw, phil TRS, #8-3/8, (10) 
6     5304446094 Valve Assembly, burner, left front, w/ignite switch 
7     5304446095 Valve Assembly, burner, left rear, w/ignite switch 
8     5304446096 Valve Assembly, burner, right rear, w/ignite switch 
9     5304446097 Valve Assembly, burner, right front, w/ignite switch 
*     5304446027 Washer, burner valve, (4) 
10    5304446014 Switch, ignitor, (4) 
11    5304446023 Screw, ignitor switch, (8) 
12    5304446036 Regulator, pressure 
13    5304446001 Base, burner, (4) 
13A   5304446085 Base, burner, center 
14    5304446086 Manifold, assembly, w/valves 
15    5304446030 Protector, burner valve, spill 
16    5304446017 Bushing, strain relief 
17    5304446022 Bumper, snap in, rubber, (4) 
18    5304446005 Cord, power supply 
19    5304446087 Module, assembly, ignitor spark 
19*   5304446018 Hook & Loop, pair, 2" x 3" 
20    5304446089 Harness, wiring 
21    5304446090 Harness, assembly, ignitor wire 
22    5304446021 Screw, phil pan, #8-32 x 1/2, (5) 
23    5304446024 Washer, #8 x 7/16 OD, 3/64 t, zinc, (8) 
24    5304446015 Nut, hex keps, #8-32, (6) 
25    5304446020 Screw, phil pan, #8-3/8 
26    5304446016 Washer, nylon 
27    5304446091 Valve Assembly, burner, center, w/ignite switch 
 
*     5304446083 Conversion Kit, LP gas 
*     5304446025 Tool, burner ring, removal 
 

 



Publication No: 5995431284  E36GC65ESS 

03/05 6 

WIRING DIAGRAM 
 

 


